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Note:~ You have four choices for each objective type question as A, B, C and D. The choice, which you thi 1
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(D) (© (B) A QUESTIONS Q-1
V{174 ‘g e ‘here’ S AL e s S| 1
None Which of the following is a valid charag;;x{{l f

P ﬁz o 3
/{tﬁ IDE Jehl p1ve _4‘-(731{ crsa S @y oy . ./:/_:ikﬁul/ 2
) ’ ) A software that facili ammers in writing
Debugger IDE Editor Compiler computer programs is knowrn as
] . . : Y ad! NI R
A float uses bytes of memory.
: e brerbSpdei |
o - - N Symbol for assignment operator is
£ By | P B i S TP e B s
Including Re-writing Defining Calling means to transfer the control to another function.
il JiL o ﬂ ~u}‘:£ fay,qug)c.ugkd-fgf‘{/‘&yu .6
" A set of multiple instructions enclosed in braces i
Job Block List Box called a ¥ s
(Ldws I
* ¥ ] {} O
In if statement, the Condition is written inside
ey
et | A S Ry —etnidhill o 6)| 8
Increment o i
; 0 part ofloop is executed first.
decrerment Initialization Body Condition
o 3 .: ~ Xl B qULVL 4
N i 0 i - Ffthe J}’CJJUIA« u;h‘uru(/ 1OOJ.L-J’~..{’/T 9
size of an array is 100, the range of index willbe
cssla %3 i) Wasny | e Ll et 28 | 10
Server Admin .
a and User defined ilt-i
ndc ser define defined defined Functions could be built-in or
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Part I Jil o
Answer briefly any Four parts from the followings. 4x2=08 —U’// L/ UL /"' Ziz lzbc-_(jf = Ltitw 2 yd J'r
What is syntax error? 2 uﬁ/ 6))
. ~ebnllsy) i
Can a program with syntax errors be compiled? e (FLl J}Lf LJWUY]J/’U'G/ A 19 rlf (i)
= S TFunig s~ Ntely, G
How a header file is included in a C program. ‘-'at'bU’JU’d/fJ,Guffu‘(lf C (iii)
. ogam. sy iii
What is modulus Operator?-g_t'ﬂ,l/ﬁ/?f u" 5L () What is format specifier? at’nb’//u/ ki (i)
' ; - -t pl
Write the output of following code. UJ TSI :
. (3 u ’ Y
printf (“1\n2\n3"), ntf(j \ ; \ )BZ’/;J "
. pr1 n n 5
Answer briefly any Four parts from the followings. 4x2=08 ~L Py j =l /‘." Ll?l/b¢(jf Py 4 J it 3 / JV
D Nioo b 455 3 J ¥ 4 (5 3
. efine Switch case Structure. -2 7§ ﬁ./ /J-‘-'( & (i) Define Conditional logic. _u‘ldféu"/ b @
Write down the structure of if-Statement in a C-program. ‘ u"’g Zlesge S Cp ‘o €11))
“wo.» (11 n ) lll
An “if” Statement have compulsory “Else” Statement? SeUnfelse AL it (iv)
Ifyes give reason. ‘ cf bosd } )
B ~Z b U/
Declare a float type array, which Store matks of 15 Students. S ﬁ:‘tf Ay NN }’é:( A AL, Yis )
Write down the general Syntax of array initial{zati . £, 5, :
yn ik y initialization. wcfgl,ju‘é/g}i(w“)shld_/l (vi)
s, axa=08 <y Sufenz B Limiga et Af )y

Answer briefly any Four parts from the followings.
Define Index. _Q/VQ}JJ{M (ii) ~ Write the flow chart of FOR loop. -éfff...uluw._u’FOR ®
U Gt u"/ Les (Gii)

Trace an error from the syntax of an array.
array-name [array-»smc]

array—name [array~size];
What data-type of parameters?"ad:’lfut‘ NS AN Why we call a function? el Sud ¥ S (’ Gv)
-J_/JUTUU‘('_—U:M(J_J,?JM (vi)

Trace an error from the following code
intadd(int x ,inty)

intaddCintx,inty)
{ {
int result; int! result;
result=x+y result=x+y
ret result; ret result;
} }
Part I e e
Note: Attempt any Two Questions. 8x2=16 -u‘f Z /’ _,ufz:..wmcdf <y
Define comments. Explain different types of ;u)@J%LrUlﬁ_é_y/ Ju*ff
comments with exampies. ] Szl
6 Decribe Arithmetic operators and Relational operators. -éyu: d/ SR TJ“/-'{ 130 fig T_ﬁ;./ A 6
7 Write a program that print counting from 5 — 10 using LSl £ Ot'Sé_nZ_/Jlﬁ”lf.?«) FOR 7
g‘”ﬂ rl];/ '

FOR Loop.
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tion as A, B, C and D. The choice, which you think, is correct; fill that circle in

front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (€) (B) (A) QUESTIONS Q-1
GG | ERE | LM | ERJA, ek | 1
Machine Assembly Low level Highlevel | BASICisa
language language language language

it 54 .: “ 5o 5
u"uy‘uf 991204 s d-'-'b”w{i 4"._66/-.4/’ \-C:);LJ(_; 2
Several Three . One mode GW-BASIC can operate in:
modes modes

* bbbl d Lokl Cdid | 5
Fl F2 F3 F4 Which of the following is a short key toruna fe
program in GW-BASIC?
S TS0 e b | 4
NOT | NEITHER OR AND U gl e
Which of the following is not a logical operator?
?c_u.?}dff_/;/ul/ufc,u:u' .5
A(-2) B(4) AQ@) NUM (10) . e ,
Which of the following is not a Valid Subscript?
o, s —_ A z </ 4LEFT$(“Pakistan”,3) | .6
Kis Pa PAK Pak « .
LEFT$("Pakistan”,3) =
. Ry : Foddbagt e v ditadski | 7
d.',_}zlg 4,-)(/: d{)}) Jé{}-.{l C‘—UC Jda‘j{./ //C-—U )J. (JJ’J %
’ Three A filecan be organized in the following ways.
Four ways Two ways One way
ways
. ; ) PSS SCREEN 308 | 8
s ‘
On color monitors, SCREEN modes are of

Ll | Ll | LLisrs | Ll ~etreicul+ Y | 9

Redo Page Break Find Undo Ctrl + Y is used for

&/ﬁl)@LpJﬁ:&Vcﬁ!’dﬁ'i/Qu):’/:.,ufdjj.g/# .10
/Qd:)ﬁ' /l'.u‘:v /Ld; JL);"f‘ ?‘L
Scroll Bar | Status Bar Tool Bar MenuBar | Which of the following bar provide the information
about application Software?
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Part I st &

Answer briefly any Four parts from the followings. 4x2=08 _Vj/ 4 f Y4 /:; anmgc,df e tdits 240y
What is problem analyzing? Sespfa gl
Define flowchart? S lekd G
Differentiate between constant and variable? * /¢ eSS S Gild)
Describe about the Direct Mode? AL (Direct Mode) 3r ek 73 Giv)

fur 25—‘?.‘.'@;70:
What does IDE stand for? fe ¥ IDE ()
What are Reserved words? el a5 25 (vi)
Answer briefly any Four parts from the followings. 4x2=08 -/ /. 4 f el /‘7 iz Ut;c,éf Py J_)Zw =3 / Ui

-ﬁd);ﬂ/é".‘/v/&.‘/u‘ﬁ:‘ulx €))

Differentiate between simple and subscript variable.

Define two-dimensional array. -",és-éj Py G
Define index. _ufj_g/‘?d"/f;. Gid
What is built-in function? Sty g;ui%,;_.,g Gv)
Write purpose of RND function. Ry oY 1 uic’ RND (W)
What are the Modes use to open a file. ;dlr"»’lird'.:( LLiS u,;:l/ S )

b
1 f ez P Linge $f e fditn 44Uy
S pIFELL B R G
?4‘_&0{ G

Answer briefly any Four parts from the followings. /© 4x2=08

How many different control structures are available in BASIC?

What is pixel?

What is menu-bar in MS-Word? Se WA s (i)

Define Drop Cap. -’c"g - /7 d/ u'(_fr <l Gv)

Define Copy and PASTE. 2Ly S SPASTE siCopy (V)

What is the use of Ctrl + Z ?‘cdb&lg{Ctrl +Z  (vi)
Part 1 (9 >
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Note: Attempt any Two Questions. 8x2=16
5 Define debugging. How many types of errors can 8

occur in a program? Describe briefly.

Fewef el S 24

using WHILE ... WEND loop.
7 Write a program to produce five concentric circles

of different radii.

1004 -

Write a program to print digits from 1 to 10 8
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